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Question Number : 1 Question Id : 6913522101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

: 7 5 7
Find the valuesof 1- +— +— .
=] 12 i8
Options:
31

1. ¢ 12

3z

31
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a1
4 #® 18

Question Number : 2 Question Id : 6913522102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

75— (96—18+6—58)+54+4x17=7
Options:

1 & 76
5 o 136

3_%?

4 % 70

Question Number : 3 Question Id : 6913522103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1.004-0.4 is equal to:

Options:
1 % 0.006
o W 1

5 « 0.604

4 % 0.640

Question Number : 4 Question Id : 6913522104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The square root of 8836 is

Options:
1.« 04
o W 06

T W 86

g w 84

Question Number : 5 Question Id : 6913522105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The product of two numbers is 55. If one of the numbers is 2.50, what is the other number?

Options:
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Question Number : 6 Question Id : 6913522106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

30—[29-{28 —(25-21-22)}]=»
Options:
1.¢ 3

o W -1

Question Number : 7 Question Id : 6913522107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

129+[46—{93+(35—-132+11x3)}] =
Options:
1 ® 1

> o 3

M
b3
LA

Question Number : 8 Question Id : 6913522108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Yo.000027

Y 0L.0004

Options:
1 % 0.015

> % 0.15
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= o 1.5

g *® 15

Question Number : 9 Question Id : 6913522109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A man buys 3 pens for 1 rupee and sells 4 for 1 rupee. Find his gain percent.
Options:

1 ® 40%

> % 50%

s o 25%

4 % 20%

Question Number : 10 Question Id : 6913522110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

After buying a toy for ¥ 132, Shabir managed to sell it at a profit of 15%. The selling price of the toy was:

Options:
; % T150.80

>« T151.80
5 % T150.60

4 % T151.90

Question Number : 11 Question Id : 6913522111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the population of a city after 2 years, which is at present 12 lakh, if the rate of increase is 4%.
Options:

1 & 1297920

> % 1207920

s % 1297820

4 % 1300000

Question Number : 12 Question Id : 6913522112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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At 6% simple interest per annum a certain sum yields a total amount of ¥ 3,228 at the end of 5 2 years. What was the
sum invested?

Options:

4 < 2,400

> % 2,600
% 2350

4% T2,550

Question Number : 13 Question Id : 6913522113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A can complete a task alone in 9 days while B takes 13.5 days to do it by herself. Together with C it takes them 4.5 days
to complete the task. If C and D together can complete the task in 18 days. then how many days will D need to complete
the task by herself?

Options:

1 ® 45

o W 48

A
Lh
iy

Question Number : 14 Question Id : 6913522114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
2th

minutes to complete the journey, how many minutes would it take Samar to cover the same distance?

Samar can cover of the distance covered by Swapnali in % th of the time taken by the latter. If Swapnali takes 42

Options:
1 # 45

o W 48
= o 50

4 % 525

Question Number : 15 Question Id : 6913522115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Paulson belongs to Town A and Robson belongs to Town B. They start their journey towards each other’s towns
following the same route at the same time. They meet somewhere on the way and continue with their journey. After
meeting Robson, Paulson takes another 2 hours to reach the destination while Robson takes another 4.5 hours to reach
Paulson’s town. If Robson travelled at the speed of 30 km/h, find’s Paulson’s speed in kmvh.

Options:
1 *® 40

> % 425
i d 45

4 % 475

Question Number : 16 Question Id : 6913522116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Twelve years ago, Raman’s age was six vears more than half the age of his mother. Six years from now Raman’s mother

will be 1.5 times as old as Raman. What is Raman’s present age?
Options:
| ® S2years

o o 54 years
5 % 55 years

4 8 56 years

Question Number : 17 Question Id : 6913522117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

13 barrels of wine fill a tank when the capacity of each barrel is 51 litres. How many barrels will be needed to fill the
same tank, if the capacity of each barrel is 17 litres?
Options:

1 *® o1

2 o 39
o W 37

4 ® 42

Question Number : 18 Question Id : 6913522118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Shrinath switched on a bulb at 1 : 44 : 41 hours and switched it off on the same day at 11: 35 : 35 hours. For how long
was the bulb in switched-on mode?
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Options:
1 % 12 hours 40 minutes 06 seconds

> % 10 hours 09 minutes 06 seconds
z « 9 hours 50 minutes 54 seconds

4 % 9 hours 09 minutes 06 seconds

Question Number : 19 Question Id : 6913522119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

It was Monday on 5% February 2018. What was the day of the week on 5™ February 200972
Options:
, = Friday

- % Monday
5 % luesday

4  Thursday

Question Number : 20 Question Id : 6913522120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Seven-ninths of my current age is the same as five-sixths of that of one of my cousins. Thirty-nine years ago my age
was twice his age. My current age is years.
Options:
1 ® 5,

h

o W 50

Question Number : 21 Question Id : 6913522121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Navin and Santanu have a total of ¥ 147 between them. Santanu and Avani have ¥ 173 between them. and Avani and
Navin have < 150 between them. How much money does Navin have?

Options:

1 ® < 60
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" ‘?62
z ® ?5?

4 ® ??'D

Question Number : 22 Question Id : 6913522122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In quadratic equation ¢x® + bx + ¢ = 0 find the ratio b : ¢ if the given equation has equal roots.

Options:
1 % 4:1

> o 2:1
5 % 1:2

4 % 1:4

Question Number : 23 Question Id : 6913522123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ifx* + kx + 3k = 0 has no solution, then the value of k will satisfy

Options:
1 ® k=12
5o Okl

z R k<12

4 ® k=12

Question Number : 24 Question Id : 6913522124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

From the top of a platform 17 m high, the angle of elevation of the top of a tower was 30°. If the platform was

positioned 504/3 m away from the tower, how tall was the tower?
Options:
1 % 50m

> % 25V3m

- % (25V3+17)m
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4 o 67m

Question Number : 25 Question Id : 6913522125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Pragya obtained an average of 24 marks in 15 tests. Zareen has been maintaining an average of 23 marks so far but has
taken only 12 of the tests. If each test is out of 30 marks. at least how much does Zareen have to score in any one of the
remaining 3 tests to still have a chance to match Pragya’s performance?

Options:

1 # 20

> o 24

Question Number : 26 Question Id : 6913522126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

You are given two statements and two conclusions. Read them carefully and select which of the conclusions logically
follow(s) from the statements.

Statement:
o All mobiles are electronics

e All electronics are chips

Conclusions:
1. All chips are mobiles

2. All mobiles are chips
Options:

1 Only conclusion 2 follows

- % Both the conclusions follow

- % Only conclusion 1 follows

4 % None of the conclusions follows.

Question Number : 27 Question Id : 6913522127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Flour is related to Bread in the same way as Clay is related to:
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Options:
1 % Round

> o Pot
5 ® Wet

4 % Brown

Question Number : 28 Question Id : 6913522128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A statement is followed by two arguments. Decide which of the arguments is/are strong with respect to the statement.

Statement:
One electric unit saved is equal to production of two units

Argument:
I.  Yes, power consumption is easier than production
II. No, we can consume power nowadays without the view on production

Options:
. Only argument I is strong

> % Only argument IT is strong

5 ® Either I or I is strong

4 % Neither I norIl is strong

Question Number : 29 Question Id : 6913522129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code language, BELL is written as 2511. What is the code for YEARN?

Options:
;. ® 25114

5 o 25111

Question Number : 30 Question Id : 6913522130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code language, MEND is written as 3544, What is the code for CURVE?
Options:
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; ® 31925
> % 318353
5 % 30825

4 « 31825

Question Number : 31 Question Id : 6913522131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If SOAP written as 1915116, then what is the code for OPTION?

Options:
. v 15162001514

> % 15172091514
- % 15162081514

4 % 15162191514

Question Number : 32 Question Id : 6913522132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Read the given statement(s) and conclusions carefully and select which of the conclusions logically follow(s) from the
statement(s).

Statement:
The event manager chooses comedy show and a skit to be performed for entertainment.
Conclusions:
I.  The event manager does not like magic shows.
II.  The event manager likes only comedy shows.

Options:
1 % Conclusion I alone follows.
> % Conclusion II alone follows.

= % Both the conclusions follow.

4 « Neither I nor II follows.

Question Number : 33 Question Id : 6913522133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Consider the given statement(s) and decide which of the given assumption(s) is/are implicit in the statement.

Statement:
“Come, let us have some ice cream.” said Lalitha to her friend.

Assumptions:
I Lalitha did have ice cream earlier.
1. Lalitha and her friend like ice cream.

Options:
, % Only Iis implicit

o  Only I is implicit
5 % Neither I norII is implicit

, » BothIandIIare implicit

Question Number : 34 Question Id : 6913522134 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Read the given statement(s) and conclusions carefully and select which of the conclusions logically follow(s) from the
statement(s).

Statements:
Often the candidates selected through interview panel are unfit

Conclusions:
1. Interview process has its own limitation
2. Having experts in the interview panel doesn’t mean that the selection will be good

Options:
, % Oanly conclusion | follows

- % Only conclusion 2 follows

= « Both | and 2 follows

4 % Neither 1 nor 2 follows

Question Number : 35 Question Id : 6913522135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A statement is followed by two arguments. Decide which of the arguments is/are strong with respect to the statement.

Statement:

Should government run campaigns to create mass awareness to use fuel responsibly?

Arguments:

I.  Yes, awareness creates the amount of natural resources used to generate electricity. This will create a sense of

responsibility in the citizens.

II. No, urbanisation has made people get used to comforts. It is very difficult to educate the mass and form
discipline.
Options:

= Both I and IT are strong.

> % Only argument II is strong.
5 % Neither I nor IT is strong.

4  Only argument I is strong.

Question Number : 36 Question Id : 6913522136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the next term in the given series.

C14,1.28,

Options:
1« U42

> % Z42
3 % T42

4 % R42

Question Number : 37 Question Id : 6913522137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the next term in the below series.

25, 8V, 260Y, L

Options:
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, « 80B
> % S1B
3 % 80C

4 % 81C

Question Number : 38 Question Id : 6913522138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the next term in the given series?

3'.' 2: 5.' 4'.' T: 6!

Options:
1 ® 7
2.« 9

3_%5

4 W 10

Question Number : 39 Question Id : 6913522139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Complete the number series by choosing the missing terms
5678, 6778, 7878, 7, 7, 101178

Options:

; % 8988, 9978

> % 8878,91078

5  8978,91078

. » 898891078

Question Number : 40 Question Id : 6913522140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A Club houses the following amenities with the following usage charges per month: 200 for the Gym, T 600 for using
the Swimming Pool. The following is a table showing their current list of customers using the amenities. What is the

total income they receive from the Swimming Pool users in a month?

Amenities No. of

UsSErs

Gym 200

Swimming | 300

pool

Options:
. = ¥2,00,000

> « %1,80,000
- % %1,50,000

., % %3.00.000

Question Number : 41 Question Id : 6913522141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

You are given a guestion and two statements. ldentify which of the statements is/are necessary/sufficient to answer the question.

Question:

What is the rank of Nitya?

Statements:
1. There are 25 students in a class

2. There are 15 students who have scored less than Nitya
Options:
1 % Statement 1 alone is sufficient.

> % Statement 2 alone is sufficient.

- » Statement 1 and 2 together are not sufficient.

4  Statements 1 and 2 together are sufficient.

Question Number : 42 Question Id : 6913522142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Read the question below, followed by 3 statements.

Question:
I eela has 10 hair clips of 4 different colours. Find how many blue clips she has?

Statements:
1. There are 2 red clips
2. The number of yellow clips are twice that of red clips
3. Green clips constitute one-third of the total number of red and yellow clips
Which statement(s) is/are sufficient to answer the above question?
Options:
1 % Statement | alone is sufficient

> % Statement 2 alone is sufficient

5 % Statements | and 2 together are sufficient

L Statements 1. 2 and 3 together are sufficient

Question Number : 43 Question Id : 6913522143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

You are given a question and two statements. Identify which of the statements is/are necessary/sufficient to answer the
question.

Question:

Among the bags A, B, C .Which bag is the second-heaviest?

Statements:

1. B is heavier than A
2. Ais lighter than C

Options:
1 « Statement | and 2 are not sufficient.
- % Statement 1 alone is sufficient.

= % Statement 2 alone is sufficient.

, % Statement | and 2 together are sufficient.

Question Number : 44 Question Id : 6913522144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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‘Which pattern, of the ones shown in the below options, resembles closest to:

{ &

% o

A B C D
&, / A Ty P

i 1 / e -"I'-"'_:‘- \ 0=
h i \ f 4 A, r
x"-. .-"'r %, i/

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1 A

> B

Question Number : 45 Question Id : 6913522145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Which of the following does NOT belong to this group?

A. Scale

B. Ruler

C. Inch tape

D. Rope
Options:
1 & A
o W B

3_%':

4« D

Question Number : 46 Question Id : 6913522146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which does NOT belong to this group:
A. Make
B. Steam
C. Bake

D. Boil
Options:
1. ¥ A

2.33]3

Question Number : 47 Question Id : 6913522147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which figure follows next in the below series?

¥/ 0 [ ] =13 ¥
e =0 0 | A
i : 0 A o 0 B
v = R A
0 = C o |+ D
Ve |+ vl |+
Options:
1 F _-f’L
o W B
3¢ C

4 % D
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Question Number : 48 Question Id : 6913522148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following patterns and identify which figure will follow next.

"l;fi‘-"

A B
» 9|
/
C D
0 |*s
</ [ 103
L J "
Options:
1 #® A
o W B
3¢ C
g *® D

Question Number : 49 Question Id : 6913522149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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‘Which of the options bears the closest resemblance to the following figure?

&P

Koepa il At

Options:
1 # A

Question Number : 50 Question Id : 6913522150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Which of the following correctly represents the relationship between:

A) Light

B) Heat

C) Sun
Options:

MOIOLC

L@



Railway Recruitment Boards - Level-1 Posts CEN-02/2018

v/ ®E

4.
Question Number : 51 Question Id : 6913522151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Louis has 3 routes to reach office. Route-1 is 5 km. route2 is 7 km and route3 is 4 km. Based on the traffic condition he

Single Line Question Option : No Option Orientation : Vertical
takes different routes. Every Monday there is heavy traffic on Route-2 and Route-3 and Tuesdays and Wednesdays there

would be multiple diversions on Route-1 and Route-3. Thursday and Friday he prefers to go by Route-3. Assume he
works 5 days a week. In 4 consecutive weeks, how many days will he take Route-2 and how many kilometres will he

have travelled on Route-2?

Options:
, % 8days, 121 km

-  8days, 112 km

5 & 4days, 14km
4 % 4days, 28 km
Question Number : 52 Question Id : 6913522152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
‘What is the minimum number of lines required to create the following figure?

Options:
1 # 3

2_235

4.« 9
Question Number : 53 Question Id : 6913522153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Select the option that can replace the question mark (?) in the given figure series.

' -f"{:"-\. .-'/'.
Y e
A B C i
I .-"H‘"‘\_\_\ S II__-""_II-
# | SF A
L
Options:
1 #® A
>« B
T W C
E D

Question Number : 54 Question Id : 6913522154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Niki walks 5 km towards the west and turns right and walks 1 km and again turns right and walks 2 km. She again turns
right and walks 1 km. How far is she from her starting point?

Options:

1 % S5km
> % 4km
z #® 2km

4 ¢ 3km

Question Number : 55 Question Id : 6913522155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Select the lateral mirror image of TOUCH from the given Option Figures.

Option Figures:

TOUCH HaUQT 10NCH _ HINOL

A B c D

Options:
1 & A

>« B
S_WC

4 % D

Question Number : 56 Question Id : 6913522156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ram swims in a 75 m long pool. He covers 150 m in one minute by swimming from one end to the other and back along
the same straight path. Find his average speed.
Options:

1. ¢ 2.5 ms]

o B 223 ms !

5 % 2.05 ms !

4 # 2.00 ms™!

Question Number : 57 Question Id : 6913522157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ram swims in an 88 m long pool. He covers 176 m in one minute by swimming from one end to the other and back
along the same straight path. Find his average speed.
Options:

1 ® 2.60 ms™!
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3 o 2.93ms!

4 ® 3.67 ms !

Question Number : 58 Question Id : 6913522158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When a constant force acts on an object with a mass of 7 kg for a duration of 3 s, it increases the object’s velocity from

3ms ! to 8 ms™!. What is the magnitude of the applied force?
Options:

1 ®% 1066 N

>~ % 12.66 N

= % 13.66 N

4 « 11.66 N

Question Number : 59 Question Id : 6913522159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The momentum of an object of mass *m’, moving with a velocity ‘v’ is given by:
Options:

, & (mv)?
> ® My

2 o MV

—muv

Question Number : 60 Question Id : 6913522160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An object of mass 20 kg is moving with a uniform velocity of 8ms 1. The kinetic energy possessed by the object is:

Options:
| % 640N
5 o 640]

= % 640Pa

4 # 640 ms!
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Question Number : 61 Question Id : 6913522161 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When an arrow is released from its bow., its energy is transformed from .
Options:
, % heat energy to kinetic energy

-  Dotential energy to kinetic energy
- » electrical energy to potential energy

, % Kkinetic energy to potential energy

Question Number : 62 Question Id : 6913522162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a bulb uses energy of 100 J and remains on for 20 seconds. then the power consumed by the bulb is:

Options:
1 % 20W

5 % 0.2W

Y
4
=

Question Number : 63 Question Id : 6913522163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The matter or subject through which sound is transmitted is called as:
Options:
1 « Medium

> % Scalar
= % Vaccum

4 % Transport

Question Number : 64 Question Id : 6913522164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a wave completes 20 vibrations in 2.5 s, then its frequency is:

Options:
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4 % 1Hz

Question Number : 65 Question Id : 6913522165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An insulator offers resistance.

Options:
1 # Zero

> % low

5 % appreciable

, v high

Question Number : 66 Question Id : 6913522166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The fuel used in the nuclear reactor is:
Options:
1 % Potassium

> % Gallium
=z % Germanium

4 + Uranium

Question Number : 67 Question Id : 6913522167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The change for an object from the liquid state to the gaseous state is known as:
Options:

, % Liquification

> % Acidification

= % Solidification
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4  vapourisation

Question Number : 68 Question Id : 6913522168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

has the least electron affinity.

Options:
1w Mercury

-~ % DBoron
5 % Nitrogen

4 % Oxygen

Question Number : 69 Question Id : 6913522169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of atoms constituting a molecule is called:

Options:
, » Molarity

> % Normality

o o Alomicity

4 w valency

Question Number : 70 Question Id : 6913522170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The value of 100 °C temperature in Kelvin is equal to

Options:
1 % 273K

5 & 373K

Question Number : 71 Question Id : 6913522171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In pure water, the concentration(s) of:
Options:
, » H and OH ions are unequal

- « H and OH ions are equal
- % H ions is equal to that of oxide ions

4 % OH ions is more than that of oxides

Question Number : 72 Question Id : 6913522172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The valency of mercurous ion is:
Options:
1.¢ 1

-2

> R

Question Number : 73 Question Id : 6913522173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Bronze is a/an:
Options:
1 ® Metal

> % Non-metal
z % Metalloid

4  Alloy

Question Number : 74 Question Id : 6913522174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is an example of an alkaline earth metal?
Options:
1 % Sodium
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> %  Aluminium

5 % Manganese

4 « Magnesium

Question Number : 75 Question Id : 6913522175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

is the first metalloid in the modern periodic table.
Options:
1 % As
> ® Qe

2+ B

E Si

Question Number : 76 Question Id : 6913522176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The system of scientific naming or nomenclature was introduced by:
Options:

1 « Linnaeus

> % Dobereiner

z % Darwin

4 % Haeckel

Question Number : 77 Question Id : 6913522177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cells of and tissues are living cells.

Options:
, w Parenchyma and sclerenchyma

-  Parenchyma and collenchymas

- % Collenchyma and sclerenchyma
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, % Sclerenchyma and tracheids

Question Number : 78 Question Id : 6913522178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

During the process, heat energy is formed.
Options:
1 % circulation

- % digestion
-  lespiration

4 % excretion

Question Number : 79 Question Id : 6913522179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

character predominates and is clearly seen in F; Generation.

Options:
1 % Recessive

> % Inherited
= « Dominated

4 % Allele

Question Number : 80 Question Id : 6913522180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The chromosomal condition in human females is:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

T 8
ot 2REXEN
o 2B FENY
4 22+XK

Question Number : 81 Question Id : 6913522181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The 14t Hockey World Cup will be held in which part of India in 20187

Options:
1 % Patna

> « Bhubaneswar
= % Jhansi

4 % Mumbai

Question Number : 82 Question Id : 6913522182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

On which day Major Dhyanchand’s birthday is celebrated as National Sports Day in India?
Options:
, % April 20"

. o August 29t

5 % October 29t

4 % December 20™

Question Number : 83 Question Id : 6913522183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The famous football player Maradona belongs to which among the following countries?
Options:

|  Argentina

5 % Germany
=z % Mexico

4 % Ireland

Question Number : 84 Question Id : 6913522184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Which player’s autobiography is named ‘Playing It My Way™?
Options:
1 + Sachin Tendulkar
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> % Rahul Dravid
=z % Vinod Kambli

, # Kapil Dev

Question Number : 85 Question Id : 6913522185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Who was honoured with the Indian Film Personality of 2017 Award at the 48™ International Film Festival Of India
(IFFI)?

Options:

1 % Prabhas

> « Amitabh Bachchan

- % Shammi Kapoor

4, % Akshay Kumar

Question Number : 86 Question Id : 6913522186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Who is the author of the book ‘I Do What I do’, published in 20177

Options:
1 % Shashi Tharoor

- % Sanjeev Sanyal
= % Venkaiah Naidu

,  Raghuram Rajan

Question Number : 87 Question Id : 6913522187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The mega event Global Entrepreneurship Summit (GES-2017) in Hyderabad was co-hosted by NITI Aayog. What is the
full form of NITI?
Options:

1 v National Institution for Transforming India

> % National Institution Towards India
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- % National India Transforming Information

, % Nation Institute Teaching India

Question Number : 88 Question Id : 6913522188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following has been chosen as an Advocacy Ambassador of Hindustan Unilever Limited (HUL)'s
*Swachh Aadat, Swachh Bharat’ programme in line with the Government of India’s Swachh Bharat Abhiyan?
Options:

, % VidyaBalan

> % Amitabh Bachchan

-  Kajol

, % Priyanka Chopra

Question Number : 89 Question Id : 6913522189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who was conferred with the 2018 Padma Shri award in the field of Social Work from Maharashtra?
Options:
1 % Tulasidas Borkar

> % M Venkatesh Kumar
= % Mamta Chandrakar

4  Sampat Ramteke

Question Number : 90 Question Id : 6913522190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following has been selected as the Horticulture Ambassador of Maharashtra ?
Options:
, % JayaBachchan

> « Amitabh Bachchan
5 % Akshay Kumar

4 % Rekha
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Question Number : 91 Question Id : 6913522191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is the Union Home Minister of India as of March 20182
Options:
, » Radha Mohan Singh

o w Arun Jaitley

-  Rajnath Singh

, % Sushma Swaraj

Question Number : 92 Question Id : 6913522192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is the current union minister of Finance?
Options:
, » Rajnath Singh

o o Arun Jaitley

z % Ananth Kumar

4 % Kalraj Mishra

Question Number : 93 Question Id : 6913522193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

As of August 2018, who is the union HRD minister of India?

Options:
1 % Ravi Shankar Prasad

- « Prakash Javadekar

- % Piyush Goyal

4 % Smriti Irani

Question Number : 94 Question Id : 6913522194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The name ‘India’ comes from the

Options:
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1« Indus River
- » Brahmaputra River
5 % Ganges River

, % DBhagirathi River

Question Number : 95 Question Id : 6913522195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Gol Gumbaz. having the second-largest dome in the world, is located in
Options:
, » Gulbarga

o  Vijayapura
z % Golconda

4 % DBerar

Question Number : 96 Question Id : 6913522196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Sunderbans Tiger Reserve is in
Options:
1 ® Assam

- % Odisha

5  West Bengal

4 % Bihar

Question Number : 97 Question Id : 6913522197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

World’s largest wetland area is in

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1 Kerala
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» West Bengal

=z Goa

4 Andaman and Nicobar islands

Question Number : 98 Question Id : 6913522198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

___ is a consumption tax placed on a product whenever value is added at each stage of the supply chain, from
production to the point of sale.

Options:

1 # Income tax

> % GST
5 o VAT

, % Custom duty

Question Number : 99 Question Id : 6913522199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

According to the World Bank, what was India’s GDP at the end of 20172
Options:

1 # 3 3.197 trillion

> % 54.234 billion

z % 5 1.009 billion

4 « $2.597 trillion

Question Number : 100 Question Id : 6913522200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What does the Mangalyaan on the reverse of the Indian ¥ 2,000 banknote depict?
Options:
, % Indian economic development

- % Indian spacecraft power

- % Tlechnological development of India
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4 « India’s first venture in interplanetary space



